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TonbiMmabl TonbIMCbI3
KBagpart TeHaey KBagpart TeHaey

x('ax +b) =0
X =0 muemece
| ax+b =0




TonbiMAabl KBagpart TeHaey
TYOIpnepiHiH popmynachl




Mbican:
6epincen : 2x° +3x+1=0
wewyi:D=0b"-4ac=3"-4-2-1=9-8=1
D>0

—b+JD -3-41 -3-1 -4

X, = =—=-1
2a 2:2 4 4
—btND  -3+41 341 -2
xl: — — :—:—095
2a 2-2 4 4

ocayador . X, =—1,x, = —%



Mbican:
bepincen: 9x° +6x+1=0
wewyi: D=b’-4ac=6>-4.9-1=36-36=0
D=0

. _—bxVD
2 2a
-b -6 -6 1
x1:x2:—:—:—:——
2 2-9 18 3

1
oncayaodwl. X, =X, = 3




Mbican:
bepincen . 2x° +x+2=0
wewyi: D=b"-4ac=1"-4-2-2=1-16=-15
D <0
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